> r&

99 Al A A(-

BC 9] gl

® 15

2,2),

B(4,-2),C(4,3) &

3 17 @ 19



2. H3EH A Al A A(-2,3),B(-1,6),C(7,3) S HAHPoR
A7+ ABC 9] Ho]&?
y
B,
(L)l
/ Y
(=2,3) 7.3)
0 >

@D 10 ®? 12.5 3 13 @ 13.5 B 14



3.

= 5 Al 3AREH 919 27

@ (3, 2) @ (-2,-3)
@ (4, 1) ® (1,-3)

® (-1, 0)



4.

& % A 2429 91] Qe Ao AT

@) (3,2) @ (0,4)
@ (-1,4) ® (1,-2)

® (-5,-1)



5. F M A(2a-4, a+b) 2} B(-3a, 2a)7F YAl thoto] L uf,
a—b 9| & oozt

s
=¥



A P(a, 3) ol tisto] Lol thote] A A Q <] &7} (-1, b)
A, ab 2 FH?
@D a=1b=-3 @ a=-1,b=-3

®a=-1,b=3 @ a=3,b=-1
® a=-3. b=-1



e Z x o grol 28}, 3Hl, 4 1, ... ﬂg“ﬂ,ygﬁ%%ﬂﬂ,%ﬂﬂ,
1 = sk A

@ x+y=17 ® y=3-x



o
7

= UEtd Aolnt. dheget=
A7)2] vi2 7] #2201zl A 1=H?
B7]
@ y=0.4x ©y=2f3x © xy=3
@y*% ® 3y=x @y:éﬁg

Do ©6,e ®0,0o0 @®o e 66,0



L_

L o] dhulEska x =
4_8_7
Ox=4dmy=3

@ x:%O] [rﬁ’y:24

@ _X:4(?__x_]u—H’y:2

29 y—




10. y%xoﬂ ]?_}-H]Eﬂé}i’_)CZQ ?31 Eﬂ,yzgo]]:]-. y:4 OE] HH,XQ] %)\_%
EREEY

@D 5 @ 4 3 0 @ 3 ® 6



=0
OE_._O
- :mmm
- <N
~ _ ||13vA
z "
75 g
S
f o
~ T
o7 - &
Mad_vMLu]_.w_m
M%pﬁ%ﬂ
i Z Ny
aQMﬁ%
ueulb g ;
QE%Q%
zo Hl ﬂ%ﬂ
_._._oﬂﬂ_mo,mﬂmmo
ﬂ:ﬂg%
T ol ¢ -
—_ U XA ar q_moﬂl.
o ¢ o
ATﬂ‘ﬂPﬁﬁwﬁ
T S o’ o
+4%%%%
<° :
%%q@uﬂ
%golﬂ
O
__01_ ME



